EARAROBEEIERT — 2 N— IBISH —F

2012818318 (A) omEF2H

El > cix

BRI R

[A~&£] 1 7% :1,100,000  ~ 23 :330,000 W 37 :187,000 F

4 7% 143,000 B 53 : 110,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. = > ENEEDN :38. -3-4- . — FOZF (E)
i 3| NIRRT -4 i 5 B 1(3_8)1 3-3-4-3 | 38.7 1 35) imke
RTIFINTL2 B:R—Z2JXb—L4 JBIEIS
o5 | RiEEA 1:38.3 4-3-2-2 [ 39.1| — 6 520 | /BRSiERE] (7FN)
2|gl10| LA LALX 56.0 ) (-1) WEE/ﬁE:
AL:Azamour £:Pattimech Airlie Stud
< . FlaEX : 01— — FERBKX (KH)
3l7l 7| 3% /02wy 6 ;_0 1.(328>.7 2-2-1-1 | 39.6 3 ;1_823) Sarx
Lih—2RNFy K B3 Y hathZRF—TI
N LS : —6-6- — JIE—BB (i##0)
a1l erTI7PF=7 o6 5 1.(318).9 6-6-6-5 | 39.4 2 (5_042) gﬁ%;&
RiZa—A>95>F BAYI/ZATY— FEE ==
N [N B . o _ % -
5 4| TN—sy H o4 ?g_ﬂ(i)l—ﬁ 1.(329).3 5-5-4-4 | 39.9 5 ;1:312) ggﬁ% (1)
LA —=FIhTx B:NAFLy RTAIL FEFL BE
¢ 4 6 | AHEE 1:39.5 7-8-7-8 |38.5| — 4 487 | KEHEE (fafR)
6 2 X—/)N——%H0— 56.0 (1) (-4) LR
LNTVALTzA—- BT R=)2Y milll B2
g 4 o4 | RER 1:39.6 10-10-10-9 | 38.5 | — 7 465 | /NAIRE (AN
7 6 b S B N 56.0 (3/4) (-4) (#%) Ly IR
:y07% #:1IrvIia—-7 J=HrTrp—L
N = # 5 | ABXHE 1:39.6 8-7-8-7 [38.6| — 9 471 | NIKSEE GAAn)
8/5|5|> YR —AOT A 56.0 (74%) 1) |WTRT
L:vA x5 B: 4054 b gy SR EBKS
. ipE ] :39. -8-9- . — 1ESRIGHD (Z\#K)
9lglg|FaviA Ut o4 = (171?76) 890 | 38T ’ 2356) e .
L:xrinaO— B:¥avwI3I570 Eie]
o # 7 | EEEA 1:40.9 1-1-3-6 | 41.8| — 10 | 451 |BEO—Kk (Af0)
10078 FL>YRxAA 54.0 @) (o) |HEIZES
RUXTAIHES B:O-Txy bk plIE e
® 1—F—@EBIERL
1T=7r= 8,7,3,10,4,1,2,5,9,6
2a=5"= 8,7,(3,10),4,1,5,(2,9),6
3=I=F— 7,10,8,(3,4),1,2,5,9,6
40—+ — 7,10,3,4,1,8,5,2,6,9
[ N5
B 3 1204 714K 3-10 300 e E 3-8 420 JEE 3-7-10 2,060
B B 3 110H 3-7 360M e B 3-8 630M EE 3-10-7 8,530
10 240M 7-10 1,450 B & 3-10 520M
7 210 B H 3-10 990M

ABICOVWTRDTEEERROODE. TR LIV,




